
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

1, 868 × ________ = 18.68 9, 871 × ________ = 98.71

9, 297 × ________ = 9297 10, 882 × ________ = 1088.2

4, 89 × ________ = 48.9 9, 773 × ________ = 9773

9, 856 × ________ = 98.56 7, 304 × ________ = 73.04

7, 045 × ________ = 7045 4, 736 × ________ = 4736

4, 661 × ________ = 46.61 9, 081 × ________ = 9081

10, 978 × ________ = 10978 2, 222 × ________ = 22.22

6, 894 × ________ = 689.4 2, 903 × ________ = 29.03

5, 612 × ________ = 56.12 7, 933 × ________ = 7933

1, 546 × ________ = 15.46 3, 154 × ________ = 315.4

www.snowmath.com

https://www.snowmath.com


Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

1, 868 × 10 = 18.68 9, 871 × 10 = 98.71

9, 297 × 1000 = 9297 10, 882 × 100 = 1088.2

4, 89 × 10 = 48.9 9, 773 × 1000 = 9773

9, 856 × 10 = 98.56 7, 304 × 10 = 73.04

7, 045 × 1000 = 7045 4, 736 × 1000 = 4736

4, 661 × 10 = 46.61 9, 081 × 1000 = 9081

10, 978 × 1000 = 10978 2, 222 × 10 = 22.22

6, 894 × 100 = 689.4 2, 903 × 10 = 29.03

5, 612 × 10 = 56.12 7, 933 × 1000 = 7933

1, 546 × 10 = 15.46 3, 154 × 100 = 315.4
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